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I 2 mwn: the three applications of oil
a  mmpbaked in a ’5x(as opposed to Mn Narn, baked in an oven)
i Last: pouring on top of the nmn (after it is baked and breaded/broken up)
ii ~ Middle: poured in to the flour to be mixed
1 »27 poured in after they are baked and made into loaves
(@) per:v.4—-mmnYa.mom
(i) challenge: nmn 'nnY are also described as m»%a mbn, but cannot be “oiled” after they are mon
1. explanation: there’s only a 0w my’11 (left) for the n%*91; not enough for the many mon
(b) therefore: put oil, flour, knead, bake, break into breads, put oil, mix in, then put final oil — and n¥np
2 opom poured in while still flour
(@) per:v.4—-n"5% nYo
(b) therefore: put oil, flour, mix oil, knead, bake, break into breads, put oil, nxmnp
iii ~ First: poured on to the ’53 before the flour
1 source: vv. 1-2; 129p:: 71279 = both require oil beforehand (v. 1) and both require 1952 (v.2) and np>» (v. 3)
b 7 ons:
i mbm are mixed with oil
ii 7 have oil rubbed on them after they are done — rubbed into a “X” (Greek “chi”)
1 Remainder: eaten by 0
2 source: MNY1 MOHN —not PRI PMVA PRI —not mMON (v. 4); in spite of v'p that could be used in each direction
(a) explanation (837): text could’ve varied (from ®:1 X1p7) and assigned nn>wn to mYn and N5 to mxn
¢ mnraregarding Amwo:
i according to w”. if 5/5 are brought, split oil to 2; %2 goes into m5n, V2 rubbed all over yp>», surplus rerouted to mon
1 »7 72 w72 w" rules that it is put on like a “X” and the surplus is eaten by o3
ii  wafers: get one nY and it is used up in repeatedly rubbing on wafer
1 »7 72 w72 w" rules that it is put on like a “X” and the surplus is eaten by o3
II 17 mwn: all mmn made in a 93 (excluding n»9n onY DnNYn 'NWY) require NN na — breaking each loaf into 2 (or 4) pieces
a  wn772 v. 3 includes all mnin (for obligation of nn'na) from "nnin”; but excludes (nMKR) — 02190 DN DNON MY
i And:..npxnincludes all mmn for npy (final pouring of oil); but excludes (n9y) baked nnin (“narn”)
1 Suggestion: perhaps we only exclude m%n, but not 1’p>p - but it’s also excluded via ®n nnin
(a) Challenge: perhaps it excludes n’1n3 nnin
(b) Answer (X¥37): the two pvwn (R0 ,YY) only fit narn nnin, which has two types (Pp>p7 ,mon)
I 27 mwn: method of nn'na
a  sxw i fold over twice (four high) and divide
b o275 nrp. fold over twice (four high) without breaking them off
¢ 2 pmp: no folding at all
i Source (8177772): »Na = more than 2; NMR = cannot be crumbs;
1 Therefore: 987w nmin is divided into 4; 0113 nMmn into 2 — but no break (“no fold” in Mwn: not 4, but 2)
ii  Dissent: ™ —no jn2 nnmn has Nn’ny, as it has no n¥np; ~n¥np > ~nnna
d  Size: all mnona are 1 (i.e. by dividing each loaf into 4 [40 per 1Mwy@10 loaves], each is 12
IV Side-door discussion regarding end of mwn — onona are not
a  9or 27 a cooked dish with small pieces of bread —if they are n»1, say "R'xnn”; if less, “mnm »n k2"
i Support: Rn»2 that if he eats mmnin, makes 11»nnw (if w1N); and says ®X'¥10n; and, per our Mwn, must be o1
it Challenge (»an): >"121n says that mnona are “returned to flour” - yet he makes ®xnn
1 And:itis certainly ®¥mpn; as the ruling that if he puts together a bunch of pnong, if the total is n1a, if itis pnn
noa3, he is liable; if nx¥n, he can fulfill nxn Nxn
2 Answer: in this case, he remixed these pieces into dough
(a) Challenge: then it should say “it”, not “them”
3 Rather: in this case, it came from a large loaf (which is still there); X127 — pieces must look like bread
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